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SYNEXEX HAEKTPIKO PEYMA-TYNOAOTIIO

C
ENTAZH HAEKTP.PEYMATOS: |=% Sl 1A=7
1°¢ KANONAE KIPXO® : (lac)=%(le) 1} ZI=0
Vv Y,
ANTIZTAZH ATQrOY (OPIZMOZ): R=—- Sl 10=T+

14
ANTIZTAZH ArQroy : R=p§

EIAIKH ANTIZTAZH-OEPMOKPAZIA: pe=po(1+00)
ANTIZTAZH ArQIroY-oEPMOKPAZIA: Re=Ro(1+a0)

Vv
NOMOZ TOY OHM (QM): I= R

2YNAEZH ANTIZTATON ZE ZEIPA : Rox=R1+Rx+R3+...+Ry , lox=li=l=ls=.. .=l ,
Voa=V1+Vo+Vs+.  +V,

1 1 1 1 1
2YNAEZH ANTIZTATQN MAPAAAHAA : =+t — +— . +—
R Ri Rz Ra Rv
Voa=V1=Vo=Vis=...=V,, loa=l1++13+.. .+l
2YNAEZH OMOIQN ANTIZTATON (R1=R:=Rs=... =R)):
R
A) ZE ZEIPA: Rox=v'R B) MAPAAAHAA: Ro)FV
2
ENEPIEIA HAEKTP.PEYMATOZ : W=V-I-t W=I%-Rt W=E t Sl Zljoule

w 2 1
IZXYZ HAEKTP.PEYMATOZ : P=T P=V:l P=I”R P:E Sl lW:E

cal
NOMOZ TOY JOULE : Q=I*R:t Sl 1ljoule Q=a-*R:t ot cal (a=0,24T)

w P
HAEKTPEIMEPTIKH AYNAMH (HEA) MHIMHZ : E=F = T Sl 1v

E
PEYMA BPAXYKYKAQZHZ : IB=?

E
NOMOZ TOY OHM INA KAEIZTO KYKAQMA : I=

oA
MOAIKH TAZH MHIMHZ : VR =E - I'r =I-Re¢

é'ITOU ROA=R5§ +r

IZXYZ 2E OAO TO KYKAQMA: P=E:| =P +P; OYZIKA METEOH |MONAAEZ METPHZHZ

IZXYZ 2TO EZQTEPIKO KYKAQMA:

Pg§=Vr|-| =|2'Rg§=P - Pr

IZXYZ £TO EZQTEPIKO THZ MHIHI : P= 12.r = P - Py
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